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4.

o2 B7] FolA 22 AS BF I 2H?

H7]

@ V10 - V45 + V40 = -5 + 310
© V244 Vbd+ V21— Vi2=5V6+ V3
© VI8- V84 V48— VI2=V2+2V3
@T_T_\/__‘/_
@\/_—x/_——:\/ﬁ

V5

pe.0 266 Goe ®©oce 66

~&B

@ V10 - V45 + V40
= V10-3V5+2V10
=3V10-3vV5

© V24 + V54 + V27 - V12
=2V6+3V6+3V3-2V3
=5v6+ V3

© VI8- V8 + V48 - V12
=3v2-2v2+4v3-23
=V2+2V3
3 28

© B Vs

= V3- 28

= V3-2+7

10
® VR0~ V- 2

=4v5-2v5-2+5

<|
<‘




12(3V10- V2) - V2(8V5-1) =aV2+ b5 V10 € W, a+b ] gH2?
(H, a, b= FE50ltt)

® -11 @ -5 ® 10 @17 ® 23

12(3V10 - v2) - v2(8vV5-1)
=36V10-12V2-8V10+ V2 = —-11 V2 + 28 V10
L a=-11,b=28>a+b=-11+28=17




6. x+y=-2+V3,x-y=1-V3Lu x2-y>+3x-3y 9 F

Tt
@_2 @ -1 ® 2-3
@ 2+ V3 ® V3

=(x-y)(x+y+3)

(1-V3)(-2+ V3+3)
(1-V3)(1+ V3)
1




V225 - \/(—6)2+ \/(—3)2><24— \/5—2_(_\/3)2

=15-6+ /(3x2%)°~5-3
=9+12-8=13
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%\@:\/a, V135 = 3vb, V2000 = cV5

ov: @v 0: @5 ® G

A
e (s 5o

La=2

V135 = V33 x5 =3v15=3Vb

“b=15

V2000 = V202 x5 =20V5 = c Vb
c=20

/2a 2><2><15 - \3




10. 2% V8 o 5 HRE
1

o

l

Y o) 4 X=X
x+y+4—4%}”_?

@1 0B
@ 2 5 2+4\/§

%

A B Yo
T T o=

S}

o, — +
xX=Y

\/__/]XJT_'__,_x:2
iT—rT':y: V8-2=2+2-2
1 1
+
x-y x+y+4
1 1

<V8<3oA V8=2.xxx---

1 1
T 422 4+2v2
_ (4+2V2)+(4-2V2)
T (4-2V?2)(4+2V2)
8 _ 8
-(2v2)2 16-8

—(2‘/5—2)+2+(2\/§—2)+4




11.

o} 1994 oABCD , oCEFG ,
oEHL) &= 25 ZARZFgolal 11 4
o= A2t S, Sp, Sz Olth. §1 =1
($2= 381,55 =15, % . BH
o Folg Fotul?

@ 4-13
@4+3\/§




12.

—2<x<y<0 2, ta FFE BT A=H?

@) (2-x)? O —-/(x-2)?
® V(2+y)? ® -/(-y)?
@ - (-2)?

O @ © ®© @)0.©

® ©.e

O-2<x<y<0°BEZ2<2-x<4
=>2</2-x2=2-x<4
O-2<x<0°B2 4<x-2<-2
=5 -4<x-2<-2
©-2<y<0°EZ0<y+2<2
=0< \/W:y+2<2
@®-2<y<0°BZ0<-y<20

> 2<=/[DP = () =y< 0

@-2<y<0°ER 4<y-2<-2




13, 4< V2n <7 & WESHE= ZA 5 9 ZF FolA A a, HE3S
bt & o, a+b 9 F2?

® 32 (E§)33 ® 34 @ 35 ® 36

~&B ~

42 < (V2n)? < 72
16 < 2n < 49

4
. 8<n<?9:24.5

A a=24, ARG b =9
La+b=24+9=33
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@® 2 @ 4 )6

@ 8

3a-3=caBA a=

af +3

3
of+3a+36+12=0
(@+3)(B+3)=-3
a+3=+14 T g+3==%30°]
(@,8) = (-2,-6) (~4,0)
ca=-a-B-3N5a=15

af+3
3

L —a—-f-3=

B=

¥ —ax-3x+3a-3=(x+a)(x+p) =2 LS
¥ -(a+3)x+3a-3=x*+(a+B)x+
a+3=-(e+p)NNa=-a-p-3

+ap

H




15. o] xt -3x% +1°] (% + ax + b)(x? + cx + d) 2 Q15=of 2 o,
a+b+c+d° ge 757

@ 2 @ 1 ® 0 @-1 @)

S5 ‘
x? =X =2 x|gotH
-3 +1=X2-3Xx+1
=X2-2X+1-X
=(X-172%-X
=(x2-1)2-x2
=2 -1-x)(x*-1+x)
=2 -x-D(x*+x-1)°|B2
a=-1,b=-1,c=1,d=-1°A4%
a=1,b=-1,c=-1,d=-1
La+b+c+d=-2




